Ersatzteilliste Lista parti di ricambio
Spare parts list Onderdelenlijst
Liste des pieces de rechange Lista de repuestos

6720810308
(2014/04) Ri

SNB160(W) | SNB200(W)

(

!

8738892772.aa.R

Buderus

22.04.2014 1 6720810308




22.04.2014 2 6720810308



[de] Wichtige Hinweise zur Installation/Montage

Die Installation/Montage muss durch eine fiir die Arbeiten zuge-
lassene Fachkraft unter Beachtung der geltenden Vorschriften
erfolgen.

[en] Important notes on installation/assembly

The installation/assembly must be carried out by a professional
who is authorised to do the work, and with due regard to the
relevant regulations.

[fr] Instructions importantes pour 'installation/le montage
Linstallation/le montage doit étre effectué(e) par un spécialiste
qualifié pour les opérations concernées et dans le respect des
prescriptions applicables.

[bg] BaxHu ykaszaHus BbE Bpb3Ka C MHCTanaumsTa/MOHTaXa
WHcranauyuATa/MoHTaxbT TPpAGBa Aa Ce M3BbPLUBA OT JIMLIEH3UPaH
3a paboTuTe CreLnanucT B CbOTBETCTBUE C MPUIOKUMUTE
pasnopeadw.

[cs] Dilezité pokyny k instalaci/montazi

Instalaci/montaz musf pfi dodrzeni platnych pfedpist provést
odborny pracovnik s pfislusnym opravnénim pro tyto préce.

[da] Vigtige anvisninger til installationen/monteringen
Installationen/monteringen skal foretages af en godkendt installa-
ter under overholdelse af de gaeldende forskrifter.

[el] Znuavrikég unobel€ei yia Ty sykatdotaon/cuvapuoAéynon
H eykatdotaon/cuvappoAdynon mpénel va mpaypatonoleltal and
e€ovol080TNEVO YIA TIC EPYACIES QUTEG TEXVIKO TTPOCWTIIKG, TO
onoio Ba mipémnel va @povTi(el OoTe va TnPoUVTal Ol LIoXUOUCEG
Sata€eic.

[es] Indicaciones importantes para instalacién/montaje
La instalacién/el montaje lo debe realizar personal especializado
autorizado para los trabajos, respetando las prescripciones vigen-
tes.

[et] Olulised juhised paigaldamiseks/montaaZiks
Paigaldamist/montaazi tohib labi viia selleks volitusi omav
spetsialist, arvestades kehtivaid néudeid.

[fl] Belangrijke aanwijzingen betreffende de installatie/montage

De installatie/montage moet worden uitgevoerd door een voor de
werkzaamheden geautoriseerde installateur. Hij moet rekening
houden met de geldende voorschriften.

[fi] Térkeitd asennus- ja kokoonpano-ohjeita

Naéihin téihin hyvaksytyn ammattiasentajan pitda suorittaa asen-
nus- ja kokoonpanoty6t voimassa olevien maardysten mukaisesti.
[hu] Fontos tudnival6k az installéldshoz/szereléshez

Az installalést/szerelést egy, a munkékra felhatalmazott
szakembernek kell végeznie, az érvényes eldirasok
figyelembevételével.

[it] Avvertenze importanti per l'installazione/il montaggio

L'installazione/il montaggio deve aver luogo ad opera di una ditta
specializzata ed autorizzata in osservanza delle disposizioni
vigenti.

[he] 860836gmmzs50 Bomomgdgbo oBligsesgoolimgol/dmbEsgolsmgols

0BLBM™3305/0mbGs70 MBS 3bbaME0gEEL LadmBsmgdolmzol ©sdggdmemo

33500g80307IM0 390LMbsemols dog, drfdgwo 39bsfigol wsgzom.

[it] Svarbios instaliavimo ir (arba) montavimo nuorodos

Instaliuoti ir montuoti, laikantis galiojanciy taisykliy, leidziama
kvalifikuotiems specialistams, kurie buvo jgalioti $iems darbams
atlikti.

22.04.2014

[Iv] Svarigi noradijumi par iekartas uzstadi$anu / montazu
lekartas uzstadisanu/montazu ir javeic specializétam sertificétam
specialistam, ievérojot spéka eso$os noteikumus.

[nl] Belangrijke aanwijzingen betreffende de installatie/montage

De installatie/montage moet worden uitgevoerd door een voor de
werkzaamheden geautoriseerde installateur rekening houdend
met de geldende voorschriften.

[no] Viktig informasjon om installasjon/montering
Installasjonen/monteringen skal gjennomferes av autoriserte
installaterer, og gjeldende forskrifter skal felges.

[pl] Wazne wskazéwki dotyczace instalacji/montazu
Instalacja/montaZz musza by¢ wykonane przezuprawnionego

do tego rodzaju prac specjaliste przy zachowaniu obowigzujacych
przepisow.

[pt] Indicagées importantes relativas a instalagdo/montagem

A instalagdo/montagem deve ser efetuada por um técnico espe-
cializado com qualificagdes para estes trabalhos, tendo em aten-
¢ao os regulamentos em vigor.

PYEY

[ro] Indicatii importante privind instalarea/montajul

Instalarea/montajul trebuierealizate de cdtre un specialist autorizat
pentru lucrérile respective, respectandu-se prescriptiile valabile.

[ru] BaxHble ykazaHuA No NoAKNIOUEHUIO/MOHTaXY

I'Iop,Kmoqeume/MOHTa)K AOMMKHbI BbINONMHATb cneLyannctbl,
UMELLnE AoNYCK K BbINOIHEHUIO TaKKX pa60T, npu COGHIOHEHVII/I
AENCTBYIOLMUX HOPM M NpaBun.

[sk] Ddlezité pokyny tykajlice sa instalacie/montaze
In$taldciu/montaz musf realizovat odbornik s opravnenim na
vykon tychto prac, pri¢om musi dodrZovat platné predpisy.

[sl] Pomembni napotki za namestitev/montazo
Namestitev/montaZo mora izvesti strokovnjak, pristojen za
tovrstna dela, ob uposte vanju veljavnih predpisov.

[sr] VaZna uputstva za ugradnju i montazu

Ugradnju i montazu moraju da obave samo strucna lica ovlas¢ena
za izvodenje takvih radova koja ¢e postovati vazece propise.

[sv] Viktiga anvisningar for installation/montering
Installationen/monteringen maste utféras av en behorig och fack-
kunnig person enligt gallande féreskrifter.

[tr] Kurulum/Montaj ile ilgili 6nemli uyarilar

Kurulum/Montaj ¢aligmalari sadece yetkili bayiler tarafindan
asagida belirtilen talimatlar dikkate alinarak yapilmalidir.

[uk] BaxniuBsi BKasiskm WOA0 YCTaHOBKW/MOHTaXY
YcTaHOBKY/MOHTaX MaloThb 3[ilicHIoBaTU daxiBLyi, LLIO MaloTb AO3BIN

Ha NpoBeAeHHS LUX Po6iT, i3 AOTPUMAHHA YMHHUX NPUMUCIB.

[zh] ZEFEHWEERT

DA B BV AR IR AR R b A R BRSSP T 23R .

araailifous il Lata clliadia [ar]

bl il gl sled ja pa cSanlly Al g sean aradio I8 (e grealaS i o5 of ang

0 gl 3 ppa 535 [fa]

Jal€an it (pinan 5 i JIS ol olanil 4y o 48 (o ddpn (60 )8 Jaua 5 2y i gafi s

Ll aladl Al g pe il a4y

6720810308



Ersatzteilliste
Spare parts list

Liste des pieces de rechange
Lista parti di ricambio

Onderdelenlijst
Lista de repuestos

(9

@ 12—

s

J

Y
x

)?-7/

-
b

-
b

N
b

ury
x

Y
x

—
x

-
x

8738892773.aa.R

Speicher SNB 160 - SNB 200
Cylinder SNB 160 - SNB 200
Ballon SNB 160 - SNB 200
Bollitore SNB 160 - SNB 200
Voorraadvat SNB 160 - SNB 200
Acumulador SNB 160 - SNB 200

SNB160(W) | SNB200(W)

22.04.2014

6720810308




Pos |Bezeichnung Bestell-Nr. Bemerkungen
Description Ordering no. Remarks
Dénomination Numero de commande = = Remarques
Descrizioni Ne d'ordine 21281818 Osservazioni
Benaming Bestelnummer ; ; g g Opmerkingen
Descripcién Numero el ordenar % 5) % 5) Observaciones

1 |Isolierung Basic 160 Mono blau 87185918080 | m

1 |Isolierung Basic 160 Mono weiss 8 718 591 809 0 u

1 |Isolierung Basic 200 Mono blau 8718 591 807 0 u

1 |Isolierung Basic 200 Mono weiss 8 718 591 806 0 u
2 |Abdeckung Deckel D551x16mm schwarz 7747027922 (MR R NH
3 |Stopfen EPS Oberteil D672,5 87185417670 (M m m H
4 |Anode G1 1/2" D26x550mm 87185713500 |m W W ®
5 |6kt-Schraube M10x25 (8x) 7747005744 |m|\m R ®
6 |Ausgleichfeder (5x) 8718585143 |m|m m H
7 |Fuhlerhalterung (2x) 8718585548 'm/m ' m B
8 |Blindstuck 1/4-kreis (1x) 8718585547 |m\m m H
9 |Spannfeder 87182240810 | m W W ®H
10 |Blech 0,8X150x10 mm 7747030376 |(m|/EH E ®H
11 |Fuhrungsdraht fir WW-Fihler 132mm 63018202 e RN
12 |Befestigungsset Fuhler Universal 87185438490 (M| m m H

SNB160(W) | SNB200(W)

Speicher SNB 160 - SNB 200
Cylinder SNB 160 - SNB 200
Ballon SNB 160 - SNB 200
Bollitore SNB 160 - SNB 200
Voorraadvat SNB 160 - SNB 200

Acumulador SNB 160 - SNB 200

22.04.2014

6720810308




Ubersetzungsliste
List of translations

Liste des traductions
Traduzione delle descrizioni

Vertalinglijst
Lista de traducciones

Pos

Description

Denomination

Descrizione

Benaming

Descripcion

Element of construction

Groupe de construction

Gruppo di construzione

Montagegroep

Grupo de construccion

Insulation Basic 200 Mono white packed

Isolation Basic 200 Mono blanc

Isolamento Basic 200 Mono bianco

Isolatie Basic 200 Mono wit

Aislamiento Basic 200 Mono blanc

Cover Outer Case D551x16mm black packed

Couvercle Couvercle D551x16mm noir

Copertura Coperchio D551x16mm nero

Afdekking Deksel D551x16mm zwart

Recubrimiento Tapa D551x16mm negro

Plug EPS upper section D672,5

Bouchon EPS partie supérieure D672,5

Tappo EPS Parte superiore D672,5

Stop EPS bovendeel D672,5

Tapon EPS parte superior D672,5

Anode G1 1/2" D26x550mm

Anode magnes d26x550 1"1/2 v2

Anodo G1 1/2" D26x550mm

Anode G1 1/2" D26x550mm

Anodo G1 1/2" D26x550mm

Thread-forming screws M10x25 set (8x)

Vis # ressort M10x25 (8x)

6kt vite autofilettante M10x25 (8x)

Zelftapschroeven M10x25 (8x)

Tornillos automaticos M10x25 (8x)

Spring compensating (5x)

RESSORT DE COMPENSATION (5x)

Compensatore (5x)

Aandrukveer voor voeler (5x)

Chapa para sonda (5x)

Sensor holder (2x)

FIXATION SONDE (2x)

Alloggiamento della sonda (2x)

Borgklem voor voeler (2x)

Clip de sujeccién para sondas (2x)

Spacer for 1/4-circle sensor (1x)

SONDE FICTIVE 1/4 (1x)

Sonda orba 1/4 (1x)

BLANGKING PIECE 1/4 (1x)

Retenedor para sondas 1/4 (1x)

O O N O W NP P

Clamping spring

Tole torsadé de maintien

Molla di tensione

Spanveer

Muelle tensor

=
o

Blank 0,8x150x10 mm

Tole 0,8X150x10 mm

Lamiera 0,8X150x10 mm

Plaat 0,8X150x10 mm

Chapa 0,8X150x10 mm

[
[N

Lead wire 132mm Ig for warm water sensor

Fil conducteur longueur 132mm

Filo guida lunghezza 132 mm

Geleidingsdraad 132 mm lang

Alambre guia 132mm para sensor ACS

[y
N

Sensor Universal Mountig Kit

Kit de montage Sonde de température

Set di montaggio Sonda di temperatura

Montageset Temperatuursensor

Juego de montaje Sensor de temperatura

22.04.2014

6720810308




Geratetypen
Types of appliances

Types de chaudieres

Tipo apparecchi

Toesteltypes

Tipos de aplicaciones

Gerat
Appliance
Chaudiere
Apparecchio
Toestel
Aparato

Bestell-Nr.

Ordering no.

Numero de commande
N° d'ordine
Bestelnummer
Numero el ordenar

Land
Country
Pay
Paese
Land
Paese

Bemerkungen
Remarks
Remarques
Osservazioni
Opmerkingen
Observaciones

SNB 160 "SA1/2/4"

8 718 545 246

Deutschland,Luxemburg,Osterreich

SNB 160 W "SA1/2/4"

8 718 545 247

Deutschland,Luxemburg,Osterreich

SNB 200 "SA1/2/4"

8 718 545 254

Deutschland,Luxemburg,Osterreich

SNB 200 W "SA1/2/4"

8 718 545 255

Deutschland,Luxemburg,Osterreich

SNB 160 "SA3"

8 718 545 248

Estland,Kroatien,Lettland,Litauen,Polen,

SNB 160 W "SA3"

8 718 545 249

Estland,Kroatien,Lettland,Litauen,Polen,

SNB 200 "SA3"

8 718 545 256

Estland,Kroatien,Lettland,Litauen,Polen,

SNB 200 W "SA3"

8 718 545 257

Estland,Kroatien,Lettland,Litauen,Polen,

22.04.2014

6720810308




Bosoh Thermotectnlk GmiH Buderus

22.04.2014 8 6720810308



